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FOREWORD

The report on the performance of the candidates in 2018 Certificate of Secondary
Education Examination (CSEE) in the English Language subject has been prepared
for the purpose of giving information to educational stakeholders about candidates'
abilities in the English Language subject.

The Candidates' Item Response Analysis (CIRA) report is intended to make people
aware of possible reasons behind the candidates' performance in the English
Language subject examination. The challenges faced by the candidates in
answering questions correctly have been shown in this report. These include:
inability to identify the demands of the question, lack of the knowledge on tenses
and grammar, inadequate basic vocabulary for use in different contexts, inability to
understand, respond to the given question and summarize the main ideas in a
comprehension passage and insufficient knowledge on the books and inability to
interpret questions in the Response to Reading. However, the analysis indicates
that some of the candidates scored high marks because they were able to identify
the demands of the questions, they had adequate knowledge on tenses and
grammatical rules, they had sufficient basic vocabulary to use in different contexts,
they had sufficient knowledge of the books in Response to Reading and they were
able to understand and respond to the given questions in a comprehension passage.

The National Examination Council of Tanzania (NECTA) expects that this report
will enable the educational stakeholders to take the correct measures in order to
improve the teaching and learning of English Language in secondary schools for
the intention of improving the candidates’ performance in future examinations
administered by the council.

Finally, the Council is acknowledging all people who participated in preparing,
analysing the data used in this report and printing this document.

A

Dr. Charles E. Msonde
EXECUTIVE SECRETARY



1.0

INTRODUCTION

The analysis of the candidates’ performance for the Certificate of Secondary
Education Examination (CSEE) 2018 for 022 English Language is presented in
this report. The analysis is based on the strengths and weaknesses of the
students’ responses.

The 022 English Language Examination for 2018 was categorized into four
sections: A, B, C and D, in order to test the candidates’ competencies in
different areas. In this case, section A tested the candidates’ ability to
comprehend and summarize the given passage. Moreover, section B dealt with
different patterns and vocabulary in English language. Section C tested the
candidates’ ability to use language to express themselves in different contexts.
Whereas, section D tested the candidates’ ability to analyze literary works such
as poetry, novels and short stories and plays.

This report therefore, intends to provide detailed analysis based on the
candidates’ performance in each item. The percentage of performance in each
question is divided into three categories which are good performance ranging
from 65 — 100 percent, average performance ranging from 30 — 64 percent and
poor performance ranging from 00 — 29 percent. Apart from using percentages,
different colours have been used to show the performance of the candidates. In
this case green, yellow and red colours represent good, average and poor
performances respectively. Moreover, different extracts representing samples
of the candidates’ responses have been attached to reveal the reality of what the
candidates wrote in the examination.

A total number of 360,236 candidates sat for the CSEE 2018 for the English
language subject out of which 237,486 (66.30) candidates passed with different
grades as shown in Table 1.

Table 1: Candidates’ Grades in CSEE 2018 in English Language

Examination
Grade A B C D F
% of candidates 1.90 7.15 28.78 28.09 33.51

Table 1 shows the percentage of candidates pass grades in CSEE 2018 English
Language subject.
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In comparison to the 2017 CSEE English Language Examination, candidates
who passed were 214,501 (67.86), this results shows a decrease in performance
by 1.56 percent. Table 2 shows the grade performance for 022 English
Language in 2017.

Table 2: Candidates’ Grades in CSEE 2017 in 022 English Language
Examination

Grade A B C D F
% of candidates 1.27 5.69 30.42 30.49 32.12

Table 2 shows the percentage of candidates pass grades in CSEE 2017 English
Language subject.

ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
QUESTION

The candidates Item Response Analysis (CIRA) in each question begins by
locating the section in which the question is found, that is, section A, B, C and
D. It also shows the total number of the candidates who attempted that
particular question, the categories of performance and the analysis of the
questions.

2.1 SECTION A: Comprehension and Summary

This section comprised of two questions which carried 10 marks in the
Examination. Question number 1 tested the candidates’ comprehension
skills and his/her ability to obtain specific information from a text read.
Question number 2 tested the candidate’s ability to present main ideas in a
summary form. Each of the questions carried 5 marks.

2.2.1. Question Number 1: Multiple Choice and Short Answer Questions

This question had two parts; (a) and (b). Part (a) consisted of multiple
choice questions which required the candidates to choose the most
correct answer among those given, whereas part (b) required the
candidates to complete the sentences by using the right information
from the passage. The question tested candidates’ comprehension skills.
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(b)

Multiple Choice Questions

The candidates were instructed to choose the most correct
response from the given alternatives and write the letter of the
correct response. The questions were:

(1)  Why was Kikuku's heart beating fast before the race?

(i)  What helped Kikuku to be among the 10 leading athletes?

(iii) What happened when the Kenyan athlete increased the
speed?

(iv) How did the sign board read in a descending order?

Short Answer Questions

The candidates were supposed to complete the sentences by
extracting the right information from the passage.

The questions were;-

(i) --mmmmmme- is a very famous event in the world.

(if) Kikuku thought that his blood would---------------- .

(ili) The marathon runners started off by running slowly

because............coevn. ...

The question was attempted by 353,074 (98%) candidates. The analysis
shows that 61,471 (17.4%) candidates scored from 3.5 to 5 marks,
128,463 (36.4%) candidates scored from 1.5 to 3 marks and 163,140
(46.2%) candidates scored from 0 to 1 mark. The general performance
of the candidates in this question was average, since 189,934 (53.8%)
candidates scored from 1.5 to 5 marks. The overall candidates'
performance in this question is summarized in Figure 1.



70 ~
60 -
50 - 46.2

40 - 364

20 ~
10 4

Percentage of Candidates

0-1 1.5-3
Scores

Figure 1: Percentage of the candidates’ performance in question 1

The analysis shows that, 163,140 (46.2%) candidates who had poor
performance in this question scored from 0 to 1 mark. Among these,
38,385 (10.9%) candidates scored 0 marks. These candidates lacked
comprehension skills. They neither choose the right alternative in the
multiple choice questions nor completed the gaps with the right
information from the passage. For example, in part (a) (i) one of the
candidates chose the incorrect response D, Because he was the 15th
athlete in the race instead of C, Because he had not participated in such
a big race before. This candidate did not understand the task of the
question which required the candidate to refer to the heart beating
before the race. In (ii) a candidate selected the incorrect response B, the
help of applauses of the crowd instead of A, the help of his own song.
This candidate did not read the passage between the lines to get the
most correct answer. Some of these candidates’ responses based on
guess work because the information they filled in gaps were quite
irrelevant to the demand of the questions. For example, one of the
candidates wrote the name ‘Kikuku’ in part (b) (i) instead of Olympic
Games. In (ii) and (iii), the candidates just picked some phrases from
the passage and wrote them as answers. Extracts 1.1 is the sample of the
candidate's poor responses from this question.
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Extract 1.1: Response by the candidate who failed to read and interpret
the right information from the passage.

On the other hand, 128,463 (36.4 %) candidates scored from 1.5 to 3
marks which is an average performance in this question. These
candidates demonstrated a moderate understanding of the question
because they could choose the correct answers for some question items.
They also provided correct information needed to complete some of the
given sentences. For example, one of the candidates was able to select
the correct response C, Because he had not participated in such a big
race before, in part (a) (i) as the candidate was able to find this
information in the first paragraph. In (ii) the candidate chose the correct
response A, the help of his own song since the candidate got this
information in the sixth paragraph. However, in part (a) (iii) the
candidate selected the incorrect response E, Kikuku ran as fast as an
antelope because the candidate just used an assumption instead of using
the facts in the passage which is response B, Kikuku used a technique to
feel at ease and increased speed. Moreover, in part (iv) the candidate
chose the incorrect response C, 50 km, 40 km, 10 km, 5 km instead of E,
40 km, 20 km, 10 km, 5 km. This incorrect choice of the candidate
implies that, this candidate did not concentrate in reading for
understanding to get the correct answer. In part (b) (i) the candidate
wrote participate instead of Olympic games. This implies that it was the
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guess answer as it is not related to the given sentence. Extract 1.2 is the
sample of the average performance.

Extract 1.2
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Extract 1.2: Response of the candidate with average performance. The
candidate was able to correctly interpret some information from the
passage.

However, further analysis of the candidates' response indicates that
61,471 (17.4%) candidates scored from 3 to 5 marks. These candidates
had good performance in this question since they were able to choose the
most correct answers as per information provided in the passage. They
could also identify the relevant information from the passage to fill in the
blanks in order to complete the sentences. This means that these
candidates had good mastery of English language and comprehension
skills. Extract 1.3 is the sample of the good response from the candidate’s
script.

Extract 1.3
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Extract 1.3: Response from the candidate who read and comprehended
Information correctly from the passage to answer question 1.
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2.2.2. Question Number 2: Summary Writing

The candidates were required to read the given passage and summarize
it. The question tested the candidates reading and comprehension skills
in order to establish the main ideas presented in the given passage. The
candidates were required to write the main ideas in a summary form of
five sentences presented in a single paragraph. In writing the summary
the candidates were required to maintain the originality of the main
ideas, considering good flow of ideas, using appropriate punctuation
marks such as full stop, commas, paragraphing and capitalization, using
correct grammar, spelling and appropriate vocabulary as well as
considering the number of sentences needed. The total marks awarded
for this question was 5 marks.

This question was attempted by 317,413 (88.1%) candidates. The
analysis shows that 16,649 (5.3%) candidates scored 3.5 to 5 marks,
60,351 (19.1%) candidates scored from 1.5 to 3 marks, and 240,113
(75.6%) candidates scored from O to 1 mark. Generally, the
performance of the candidates in this question was weak, since 77,300
(24.4%) candidates scored from 1.5 to 5 marks. The candidates'
performance in this question is summarized in the following Figure 2.
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Figure 2: Percentage of the candidates’ performance in question 2

7



The analysis indicates that 240,113 (75.6%) candidates scored from 0 to
1 mark which indicates poor performance in this question. These
candidates lacked summary writing skills. Some of them numbered the
sentences, another candidate presented information like a card, and
others copied the paragraphs in the original text. Moreover, some
responses lacked sense due to poor language skills and were presented
in a poor format. Extracts 2.1 illustrates the sample of poor responses
by one of the candidates.

Extract 2.1
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Extract 2.1: The poor response by the candidate who numbered the
five sentences instead of writing in a single paragraph.

Moreover, 60,351 (19.1%) candidates scored from 1.5 to 3 marks,
which is an average performance. These candidates were able to
identify few main ideas from the passage and copied some sentences
directly from the passage given. Some of them lacked good flow of
ideas, wrote unclear sentences and had spelling errors. There were also
candidates who wrote meaningless sentences and mixed some
information in the same sentences as extracts 2.2 shows:
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Extract 2.2: Response by the candidate who copied some sentences,
hence scoring average marks.
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The analysis of the candidates’ performance reveals that 16,649 (5.3%)
candidates scored from 3.5 to 5 marks which is good performance in
this question. These candidates were able to summarise key information
from a text in five sentences in a single paragraph. This implies that,
these candidates had reading and comprehension skill as they observed
all the principles of summary writing such as maintaining the originality
of the main ideas, considering good flow of ideas, using appropriate
punctuation marks such as full stop, commas, paragraphing and
capitalization, using correct grammar, spelling and appropriate
vocabulary as well as considering the number of sentences needed.
Extract 2.3 is the sample of the good response from a candidate.

Extract 2.3
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Extract 2.3: Response by the candidate who was able to identify
main idea from the passage read.

2.2 SECTION B: Patterns and Vocabulary

The section was comprised of five questions which were supposed to be done
by all candidates. Each question carried 4 marks, making a total of 20 marks.

2.4.1. Question Number 3: The Use of Grammar

The candidates were required to re-write the given sentences according
to the instructions given. The question intended to test the candidate’s
9



ability to use different patterns to form correct grammatical sentences.
The total marks for this question were 4 where each item had 1 mark.
The sentences given were:

(@) She finished her work. Then she went home. (Begin with: Having
)

(b) She went out very early. She wanted to catch the first bus.
(Rewrite using: because)

(c) Can we meet tomorrow? (Rewrite into indirect speech)

(d) My brother has a pen friend from the Netherlands. (Rewrite using:
the nationality of the pen friend)

The analysis shows that 345,457 (95.9%) candidates attempted this
question. The analysis shows that 293,702 (85%) candidates scored
from 0 to 1 mark, 45,698 (13.2%) candidates scored from 1.5 to 2
marks and 6,057 (1.8%) candidates scored from 3 to 4 marks. The
general performance in this question was poor as only 51755 (15%)
candidates scored from 1.5 to 4 marks. Figure 3 summarizes the
performance of candidates.
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Figure 3: Percentage of the candidates’ performance in question 3

Furthermore, 293,702 (85%) candidates who scored from 0 to 1 mark
were not able to attempt the items correctly due to poor knowledge of
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English patterns (grammar). For example, in part (a) the item tested the
candidate’s ability to express order of events by using having at the
beginning of the sentences. The candidates failed to use having to
express order of events. Some candidates did not use having at the
beginning since they did not even understand the given instruction.
Some other candidates retained the word then in the main clause and
omitted the possessive pronoun her in the dependent clause.

Moreover, there were candidates who retained the subject she by
writing having she finished her work. Part (b) the item tested the
candidate’s ability to express reason using because. The candidates in
this category failed to use because to express reasons. Part (c) tested the
candidate’s ability to change a direct speech sentence into an indirect
speech. The candidates failed as they lacked the knowledge of indirect
speech. For example one of the candidates regarded indirect speech as a
name hence used it as the subject, indirect speech can we meet
tomorrow? Also other candidate changed the sentence into future as in
the sentence | shall meet tomorrow. Part (d) item intended to test the
candidates’ understanding of the nationalities of people of different
countries. Some students generalized that the nationality of people from
the Netherlands falls in the regular principle of expressing peoples’
nationalities by adding “an” to the name of the country. Extract 3.1 is
the sample of the candidates’ poor responses.

Extract 3.1:
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Extract 3.1: Response by the candidate who lacked knowledge of
different patterns and vocabulary in English Language.

The candidates with average performance in this question were 45,698
(13.2%). These candidates managed to attempt only some items
correctly. However, they failed to attempt correctly some parts due to
lack of knowledge on patterns and vocabulary. For instance, one of the

candidates wrote the nationality of people from Netherlands as
11



Nerthalandian instead of Dutch. Also, the candidate failed to write the
sentences from direct to indirect speech as he/she wrote; They said that:
can we meet tomorrow. Instead of; He/she asked me if we could meet
the following day. Extract 3.2 shows the sample of the candidate who
had an average performance in this question.

Extract 3.2
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Extract 3.2: Response by the candidate who failed to change a direct

speech sentence into indirect speech. The candidate also failed to
provide the nationality of Netherlands.

()

However, further analysis shows that only 6,057 (1.8%) candidates
scored from 3 to 4 marks. These candidates had enough knowledge on
patterns and vocabulary in English Language. In part (a) they knew that
the when having is used to join two sentences into one sentence, it will
change one close into a dependent clause. So they were able to join the
two sentences beginning with Having, For example, one candidate
wrote; Having finished her work she went home. Not only this but also
in part (b) they managed to rewrite the sentences using because. For
example, one candidate wrote; She went out very early because she
wanted to catch the first bus. Furthermore, in part (c) one of the
candidates changed the sentences into indirect speech; He/she asked me
if we could meet the following day. In part (d) they also managed to
write the sentences using the nationality of the pen friend from
Netherlands as they wrote; My brother has a Dutch pen friend. Extract
3.3 is the sample of the good response.

12



Extract 3.3
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Extract 3.3: Response by the candidate who answered this question
correctly.
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2.4.2. Question Number 4: Peoples’ Jobs/Occupations

The candidates were required to choose four words among the given
nine words to complete the given expressions (a) to (d) about
occupations of different people. The question tested the candidate’s
ability to name occupations of different people. The question carried a
total of 4 marks whereby each item had 1 mark.

The words were: inspector, farmer, driver, authoress, magistrate
librarian, news reporter and electrician

The given expressions were:

(@) A person whose job is to visit schools, factories to check that rules
are being observed, obeyed and that standards are accepted is
called .

(b) A person who is in charge of or works in a library is called

(c) A woman who writes books is called .
(d) A person whose job is to connect, repair electrical equipment like
cables, wires in a house, car or machine is called

The question was attempted by 359,240 (99.7%) candidates. The
analysis of candidates’ performance shows that 279,207 (77.7%)
candidates scored from 3 to 4 marks, 49,733 (13.9%) candidates scored
from 1.5 to 2 marks and 30,300 (8.4%) candidates scored from 0 to 1
mark. Generally, the candidates' performance in this question was good,
since 328,940 (91.6%) candidates scored from 1.5 to 4 marks. Figure 4
illustrates the summary of candidates’ performance.

13
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Figure 4: Percentage of the candidates’ performance in question 4

The analysis of the candidates’ performance indicates that 279,207
(77.7%) candidates who scored from 3 to 4 marks had enough
knowledge on the different vocabularies used to name occupations of
different people. These candidates knew that a person whose job is to
visit schools, factories to check that rules are being observed, obeyed
and that standards are accepted is called an inspector. A person who is
in charge of or works in a library is called a librarian. A woman who
writes books is called authoress and a person whose jobs is to connect,
repair electrical equipment like cables, wires in a house, car or
machine is called an electrician. Extract 4.1 is the sample of the good
response from the candidate’s script.

Extrac 4.1
4

) fﬂSP?r\m
Wibearian
Southeress

d) Q\Q&Hm‘un
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Extract 4.1: Response by the candidate who could identify people’s
occupations.

Furthermore, 49,733 (13.9%) candidates had an average performance in
this question. These candidates were able to respond correctly in some
parts of the question and failed to respond on other parts correctly. This

14



shows that they had inadequate knowledge of some vocabulary used to
name occupations. For instance, one of the candidates wrote that;
A person whose job is to visit schools, factories to check that rules
are being observed, obeyed and that standards are accepted is called
a librarian.
This candidate did not realize that the librarian is a person who is in
charge of or works in a library. Also in part (b) the candidate wrote
that;
A person who is in charge of or works in a library is called
magistrate.
This candidate did not realize that the magistrate is a public officer
who is concerned with the administration of law. Extract 4.2 shows

an average performance from one of the candidates.

Extract 4.2
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Extract 4.2: Shows the response of the candidate who answered
some of the parts of question correctly.

However, 30,300 (8.4%) candidates performed poorly in this question.
These candidates lacked knowledge of the occupation of different
people in the society. For example, in part (c) some of them identified a
woman who writes book as an electrician, it is likely that these students
did not understand the meaning of a word electrician which means a
person whose job is to connect, repair electrical equipment like cables,
wires in a house, car or machine. In part (d) they also identified an
authoress as a person whose job is to connect and repair electrical
equipment. This response implies that the candidates did not know that
an authoress is a woman who writes books. Therefore, these candidates
guessed occupations due to their lack of knowledge on the respective
vocabulary. Extract 4.3 demonstrates the poor response from the
candidate’s script.
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2.4.3.

Extract 4.3
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Extract 4.3: Response by the candidate who lacked knowledge of
people’s occupations.

Question Number 5: The Use of Adjective, Reflexive and Relative
Pronouns

The candidates were required to choose the most appropriate word from
the given list to fill in the blank spaces in the given sentences. This
question was testing the candidates’ ability to use adjectives, reflexive
and relative pronouns. Each item carried 1 mark making a total of 4
marks.

The words were; whose, which, whole, myself, you, ourselves, quite,
it

The given sentences were:

(@) Nandipa has spent her life in a boarding school
from standard I to form six.

(b)  When thieves came at night, we locked in the rooms.

(c)  We were studying in an old class.

(d) A widower is a man wife is dead.

The question was attempted by 358,776 (99.6%) candidates. The
analysis of the candidates’ performance reveals that 162,786 (45.4%)
candidates scored from 0 to 1 mark, 88,171 (24.5%) candidates scored
from 1.5 to 2.5 marks and 107,819 (30.1%) candidates scored from 3 to
4 marks. The candidates' overall performance in this question was
average, since 195,990 (54.6%) candidates scored from 1.5 to 4 marks.
Figure 5 illustrates the summary of candidates’ performance.
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Figure 5: Percentage of the candidates’ performance in question 4

The analysis of the candidates' performance shows 162,786 candidates
which is 45.4 percent of all candidates scored from 0 to 1 mark which
indicates weak performance in this question. These candidates
performed poorly in this question since they did not know the
relationship that exists between words in the given sentences. For
example, one of the candidates in part (a) wrote quite instead of the
word whole. This candidate did not realize that what was required in
that sentence was the relative pronoun. In part (b) the candidate wrote
whole instead of ourselves. This candidate was not aware that the
needed word was the reflexive pronoun and not the relative pronoun.
Furthermore, in part (c) the candidate filled the sentence with a relative
pronoun which instead of the adjective quite. In part (d) the candidate
chose myself instead of whose. This candidate did not realize that a
reflexive pronoun was not compatible in the given sentence. These
incorrect responses imply that the candidates lacked knowledge on the
use of adjectives, reflexive and relative pronouns. Hence, they made
wrong choices. Extracts 5.1 is the sample of the candidate’s poor
response.

Extract 5.1

S 62 it
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Extract 5.1: A sample of candidate’s response who failed to use
adjective, reflexive and relative pronouns.
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Further analysis of the candidates' performance in this question shows
that 88,171 (24.5%) candidates had an average performance. These are
the ones who scored from 1.5 to 2.5 marks. They managed to answer
some parts of the questions correctly. However, they failed to answer
some other parts since they lacked knowledge on the relationship that
exists between words in the sentences. For instance, one of the
candidates wrote quite in part (b) instead of using reflexive pronoun
ourselves. This candidate lacked the knowledge of reflexive pronoun
that it is used when the subject in a sentence begins with pronoun we.
Similarly, in part (c) the candidate wrote the relative pronoun which
instead of an adjective quite which is modifying the noun class. Extract
4.2 shows the candidates who managed to answer some parts correctly.

Extract 5.2

0L 1 (6) hile
) Yuite
(O by
(A Wl G

Extract 5.2: The sample of candidates’ response who managed to
answer part (a) and (d) of the question correctly.

However, further analysis shows that 107,819 (30.1%) candidates
scored from 3 to 4 marks, which is good performance in this question.
These candidates were aware of the relationship that exists between
words in the sentences; hence they knew the correct use of adjective,
reflexive and relative pronouns according to the demand of the
questions. Therefore the candidates were able to write the adjective
whole in part (a), the reflexive pronoun ourselves in part (b), an
adjective quite in part (c) and relative pronoun whose in part (d).
Extract 5.3 is the sample of candidate’s good response:
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Extract 5.3
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Extract 5.3: The sample of the good response by a candidate who
correctly selected relevant adjective, reflexive and relative pronouns
to answer question.

2.4.4. Question Number 6: Identifying and Replacing Wrong Words

Candidates were given two task in this question, one was to identify the
wrong word and the second one was to replace the wrong word by
writing the correct word in each of the given context in the sentence.
The question tested the candidates’ knowledge on the words which are
closely related in terms of pronunciation but different in meaning and
spelling (homophones).

The sentences with the wrong words were:

(@) Kitchen is good meat.
(b) His uncle is a hat surgeon.
(c) May I have a peace of chalk.

(d) This is not a light place for you to stay.

This question was attempted by 351,446 candidates which is 97.6
percent of all the candidates. The analysis indicates that 190,323
candidates which is 54.2 percent scored from 0 to 1 mark, 92,301
candidates which is 26.2 percent scored from 1.5 to 2.5 marks and
68,823 candidates which is 19.6 percent scored from 3 to 4 marks.
Generally, the candidates' performance in this question was average
since 161,123 (45.8%) candidates scored from 1.5 to 4 marks. Figure 6
shows the summary of candidates’ performance.
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Figure 6: Percentage of the candidates' performance in question 6

The analysis shows that the candidates who scored from 0 to 1 mark
were 190,323 (54.2%). These candidates failed to relate the meaning of
words within the given context. They were not aware that there are
words which have the same pronunciation but they differ in spelling
and meaning. Among these students some of them neither identified nor
replaced the wrong words, they just copied the sentences as they were.
Others just identified the words which were not intended. For example,
one of the students in part (a) changed a word meat to meet instead of
changing the intended word kitchen. This candidate did not know that
the given word meat was correct, hence the changed word made the
sentence grammatically incorrect. In part (b) the candidate changed the
word surgeon to sur instead of changing the word hat. In part (c) the
candidate changed the intended word peace to the meaningless word
peece instead of piece. In part (d) the candidate changed the word stay
to the meaningless word strey instead of changing the word light.
Extract 6.1 is the sample of the poor response.
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Extract 6.1
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Extract 6.1: Sample of the response by a candidate who identified
words without considering the intended meaning in the sentences.

Further analysis shows that 92,301 candidates which is 26.2 percent of
all the candidates got an average performance in this question. These
candidates scored from 1.5 to 2.5 marks. The candidates managed to
answer some parts of the question correctly while they got wrong in
other parts of the question. Some of these candidates only did one task
of identifying the wrong word which are kitchen, hat, peace and light
without replacing the identified words with the correct ones. On the
other hands, some candidates only replaced the wrong words with
chicken, heart, piece and right without identifying them which is
contrary to the demand of the question. Other candidates identified the
wrong words but failed to write them correctly to bring the intended
meaning. For example, one of the candidates in part (a) identified
kitchen and replaced it with kitten instead of chicken. In part (b) hat was
replaced by hut instead of heart. In part (d) light was replaced with fight
instead of right. This candidate did not consider the meaning of those
words when doing the replacement. Extract 6.2 shows the sample of the
response of the candidates who managed to attempt some parts of the
question correctly.

Extract 6.2
6 UWHoa ond Lottt wonel.
Kitthin Witeen .
L) LR
K _
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Extract 6.2: Sample of the response of the candidate who managed to
identify some of the wrong words but failed to write the correct
words.
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2.4.5.

The candidates who scored 3 to 4 marks were 68,823 candidates which
is 19.6 percent. These candidates were able to respond according to the
demands of the question. They started by identifying the wrong words
which are kitchen, hat, peace and light and then managed to replace
them with the correct words chicken, heart, piece and right respectively
as seen in Extract 6.3.

Extract 6.3
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Extract 6.3: Response by the candidate who identified the wrong
words and replace them with the right ones.

Question Number 7: Expressing Past Events

Candidates were required to complete the sentences using the
information provided about Juma’s life history which is as follows:

1984 — 1990 — at Mtakuja primary school.

1991 — 1997 — at Malwe high school.

2000 — 2004 — joined university of Dar es Salaam.

2004 — 2007 — English teacher at Muka secondary school.
2008 — got married.

(@ In1996
(b) In2003
(c) 1In 2006
(d) In2008
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The question tested the candidates’ ability to express past events using
past continuous tense which is expressed by using was or were as the
past form of the verb to be and the main verb with an ing form such as
Tumaini was reading a book. The candidates were also supposed to
note that part (d) sentence was to be written in the simple past tense
because it acts as the conclusion for Juma’s life history.

The question was attempted by 352,885 (98%) candidates. The analysis
shows that 277,176 (78.5%) candidates scored from 0 to 1 mark, 61,140
(17.4%) candidates scored from 1.5 to 2.5 marks and 14,569 (4.1%)
candidates scored from 3 to 4 marks. The general performance of the
candidates in this question was poor as only 75,709 (21.5%) candidates
scored from 1.5 to 4 marks. Figure 7 illustrates the candidates'
performance in this question.
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Figure 7: Percentage of the candidates’ performance in question 7

The analysis shows that 277,176 (78.5%) candidates with poor
performance had different misconceptions about the question. There
were candidates who thought that the question required them to change
the names, for example one of the candidates wrote; In 1996 Najati
was studying at Kisanga Primary School instead of; In 1996 Juma was
studying at Malwe High School in part (a). In part (b) the candidate
wrote ungrammatical sentence; In 2003 A live at Matanda Secondary
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instead of; In 2003, Juma was studying at the University of Dare es
Salaam. Other candidates showed the ranges of time like in 1996 to
2000 instead of using the intervals of the years given in the question.
Not only that but also other candidates copied the information provided
about Juma's life history, and used it to complete the given sentences.
Some of the students wrote sentences which were not grammatically
correct and they did not meet the requirement of the question. Extract
7.1 shows a sample of the poor responses from one of the candidates.

Extract 7.1
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Extract 7.1: Sample of the response of the candidate who failed to
complete the sentences about Juma's life history.

Moreover, analysis shows that 61,140 (17.4%) candidates scored from
1.5 to 2.5 marks which indicate an average performance in this
question. These candidates failed to realize that all the sentences from 7
(@), (b) and (c) needed to appear in the past continuous tense, instead
they wrote 7(b) and (c) as simple past tense sentences. For example in
part (b) the candidate wrote; In 2003-Juma joined University of Dar es
Salaam instead of; In 2003, Juma was studying at the University of Dar
es Salaam. Likewise, in part (c) the candidate wrote; In 2006-Juma was
English teacher at Muka Secondary School instead of; In 2006, Juma
was teaching English at Muka Secondary School. Or In 2006, Juma
was a teacher who was teaching English at Muka Secondary School.
Extract 7.2 shows a response from the candidate who managed to
answer part (a) and (d) correctly but failed in part (b) and (c).
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Extract 7.2: Sample of the response from the candidate who
managed to answer correctly in some parts in question 7.

Further analysis shows that the candidates with good performance were
14,569 (4.1%). They scored from 3 to 4 marks. These candidates
realized that the events in 7 (a) (b) and (c) were supposed to be
expressed in the past continuous tense, while the 7(d) sentence was to
be expressed as a simple past tense sentence. Following this knowledge
the candidates wrote: in (a) In 1996 Juma was studying at Malwe High
School; in (b) In 2003, Juma was studying at the University of Dar es
Salaam; in (c) In 2006, Juma was teaching English at Muka Secondary
School; and in (d) Juma got married. A sample of a good answer from
the candidate’s script is provided in extract 7.3.

Extract 7.3

o) In 1996 , Jurx une duduing of Makee lialh

7

Schoot-

[

b) In 2003 Tiomoe ok &Udutm at Univewtify oe

Das o cadogm -

) Lo 2006, Jurvo, g ff@ﬂCﬂm(j) al_ an Em{o&b Loochor
ot Mubeo L@wmlaru «cheol.™

A Tn 2008 Jumey Lc}o'f marned-

Extract 7.3: Response by the candidate who was able to attempt question 7
correctly.
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2.3 SECTION C: Language Use

This section consists of question 8, 9 and 10. The candidates were required
to answer questions 8, 9 where each question carried 5 marks. They were
also required to choose two of the four given alternatives in question 10.
Each alternative carried 10 marks. The total marks for this question were 30
marks.

2.3.1 Question Number 8: Rearranging the Sentences into Logical
Sequences

Candidates were required to re-arrange the following five sentences into
a logical sequence to make a meaningful paragraph by writing the
corresponding letter in the answer booklet provided.

A. It was so unfortunate that the man died in Amina's house because
of drunkenness.

B. Amina was struggling to support him to get into the house and |
went to help her.

C. One day I saw her coming back home with a man.

D. There was a certain girl living near our house, she was known as
Amina Matanuzi.

E. The man was so drunk that he could not walk on his own and he
looked so terrible.

The question intended to test the candidates’ knowledge in sequencing
ideas logically. They were required to identify the sequence markers so
as to establish logic in a paragraph. Each item carried 1 mark making a
total of 5 marks for this question.

The question was attempted by 358,312 (99.5%) candidates. The
analysis shows that 114,475 (31.9%) candidates scored from 0 to 1
mark, 98,713 (27.6%) candidates scored from 1.5 to 3 marks and
145,124 (40.5%) candidates scored from 3.5 to 5 marks. The general
performance of the candidates in this question was good, since 243,837
(68.1%) candidates scored from 1.5 to 5 marks. Figure 8 illustrates the
candidates' performance in this question.
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Figure 8: Performance of the candidates in question 8

The analysis of the candidates’ performance shows that, 145,124
(40.5%) candidates scored from 3.5 to 5 marks. These candidates
performed well in this question, since they managed to establish logic
by rearranging the five sentences sequentially. They were also able to
note the sequence markers which show order when arranging
sentences/ideas. For example, they could note that D was supposed to
be the first sentence since it started narrating the story about the girl
while C was supposed to be placed second because the pronoun her
refers to the girl (Amina) who was already mentioned in the first
sentence. Then, the sentence E becomes the third one since it gives the
connection of the story as the meaningful one. It is followed by
sentence B which has connection with E. Sentence A become the last
one as it concludes a story. Extracts 8.1 is the sample of the good
response from one of the candidates.

Extract 8.1
8 TJentence  Numbti | | > 1 3 5 S
lthe D Cc |l e | ® A

Extract 8.1: Response by the candidate who could rearrange the
sentences in a logical order.
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Furthermore, the candidates who had an average performance were
98,713 (27.6%). These candidates were able to sequence only some
sentences. While some candidates could only re arrange the fourth and
fifth sentences, others could rearrange the first and the fifth ones. Yet,
there were also candidates who managed to sequence the first and the
third sentences only. One of the candidates could not identify all the
sequence markers; hence he or she identified sentence D as the first one
but he or she failed to connect it with sentence C. However, sentence E
was correct and the rest of the sentences were incorrect. This is shown
in extract 8.2.

Extract 8.2
— ol N - ]
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Extract 8.2: Response by the candidate who responded correctly in
some parts of the question.

Moreover, the analysis shows that there were candidates who had weak
performance in this question. These were 114,475 (31.9%) candidates
who attempted this question. They scored from 0 to 1 mark in this
question. There were several reasons behind their failure; some of the
candidates’ were influenced by C as the first sentence because they
thought that one day is used to mark the beginning of the story. They
did not realize that her in the same sentence should be used after a
female name such as Clara or a pronoun she which has already been
mentioned. For this case sentence D should be the first one as the name
of a girl is mentioned as Amina Matanuzi, followed by C, E, B and A.
Therefore, this was the beginning of their confusion. Another group of
candidates chose B as the first sentence. They followed by E, C A and
D. These candidates failed to establish logic; hence they only guessed
the arrangement without knowing the reasons for their selection.
Extract 8.3 provides a sample of the candidate who failed to rearrange
the sentences into a logical sequence.
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Extract 8.3: Response by the candidate who could not identify the
sequence markers to rearrange the given sentences in a logical order.

2.3.2 Question Number 9: Matching the Items

The candidates were required to match each expression in List A

with the correct word from List B by writing the corresponding
letter beside the item number in the answer booklet(s) provided.

LIST A

LIST B

(i)

(i)

(i)

(iv)

(v)

A tropical fruit with smooth yellow or red
skin, soft orange flesh and large seed inside.

A round citrus fruit with thick reddish-
yellow skin and a lot of sweet juice that is
rich in vitamin C.

A long curved fruit with thick yellow skin
and soft flesh, which grows on trees in hot
countries.

A large tropical skin with rough skin,
yellow flesh with a lot of juice and stiff
leaves on top.

A tropical fruit with hard, dark green skin,
soft, light green flesh and a large seed
inside.

Orange
Onion
Pineapple
Tomatoes
Mango
Avocado

Apple

banana

The question intended to test the candidates understanding of the
vocabulary used to name fruits as used in everyday conversations. The
candidates were required to read and understand the given expression in
List A in order to be able to match them with the right name of fruit in

List B. Each item carried 1 mark making a total of 5 marks.
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The question was attempted by 358,216 (99.4%) candidates. The
analysis shows that 134,870 (37.7%) candidates scored from 0 to 1
mark, 127,920 (35.7%) candidates scored from 1.5 to 3 marks and
95,426 (26.6%) candidates scored from 3.5 to 5 marks. The general
performance of the candidates in this question was good, since 223346
(62.3%) candidates scored from 3.5 to 5 marks. Figure 9 illustrates the
performance of the candidates in this question.

Scores
mO-1
01.5-3
m35-5

Figure 9: Percentage of the candidates’ performance in question 9

The analysis indicates that candidates whose performance was poor in
this question were 134,870 (37.7%). These candidates scored from 0 to
1 mark. They failed to attempt the question correctly since they did not
know the right vocabularies that are used to name different fruits, hence
failed to match the names of the fruits with their relevant expressions.
For example, one candidate matched item (i) A tropical fruit with
smooth yellow or red skin, soft orange flesh and large seed inside with
D tomatoes instead of E mango. This candidate failed to understand
that tomatoes do not have large seeds inside. The candidates who
matched item (ii) A round citrus fruit with thick reddish-yellow skin
and a lot of sweet juice that is rich in vitamin C with H banana instead
of A orange, did not even realize that bananas are not round in shape
and do not have juice.

Further analysis shows that those who selected E mango instead H
banana to match with (iii) A long curved fruit with thick yellow skin
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and soft flesh, which grows on trees in hot countries, did not know that
mangoes are not long curved fruits. The candidates who matched (iv) A
large tropical skin with rough skin, yellow flesh with a lot of juice and
stiff leaves on top with A orange instead of C pineapple failed to realize
that oranges do not have rough skin and stiff leaves on top. Those who
matched (v) A tropical fruit with hard, dark green skin, soft, light green
flesh and a large seed inside with C pineapple instead of F avocado did
not know that pineapples do not have soft, light green flesh and a large
seed inside. These responses imply that the candidates did not
understand the meaning of those expressions and vocabularies given.
Extract 9.1 is the sample of the poor response from the candidate who
failed to match the expression in list A with the correct word from list
B.

Extract 9.1

Extract 9.1: Poor response by the candidate who failed to match
names of fruits with their expressions.

Moreover, the analysis shows that there were 127,920 (35.7%)
candidates who had an average performance in this question. These
candidates scored from 1.5 to 3 marks. Some of the candidates managed
to match some parts, for instance, one of the candidates managed to
match number (i) with E which is mango, number (v) with F which is
avocado. He or she failed to match the rest of the items, since he or she
lacked the knowledge of different kinds of fruits in terms of their
characteristics. For example, the same candidate matched number (ii)
with D tomatoes, without knowing that tomato has no thick reddish-
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2.3.3

yellow skin. The candidate matched number (iii) with G an apple
instead of H which is banana. This candidate was confused since an
apple is yellow and has soft flesh but he/she failed to know that an
apple is not a long curved fruit with thick yellow skin rather it is
banana. Also the candidates matched number (iv) with A orange
instead of C pineapple. He or she failed to know that an orange has no
rough skin and stiff leaves on top. Other candidates managed to match
number (i) with E orange and number (iii) with H banana but failed to
match the rest of the items. Extract 9.2 shows the sample of the
response of a candidate who managed to match item (i) and (v)
correctly but failed to match the rest of the items.

Extract 9.2
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Extract 9.2 shows the sample of the response of the candidate who
managed to match item (i) and (v) correctly but failed to match the
rest of the items.

On the other hand, the candidates with good performance were 95,426
(26.6%). These candidates were able to identify mango, orange,
banana, pineapple and avocado as the fruits needed to match
expressions (i), (ii), (iii), (iv) and (v) respectively. Therefore, they
understood expressions and could name the fruits. Extract 9.3 gives a
sample of a good response from candidate's scripts.

Extract 9.3
Q- | Nk i 3 T M Ty \
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Extract 9.3: Response by the candidate who could identify fruits
with their description.

Question Number 10: Writing Skills

The candidates were required to choose two alternatives out of the four
given alternatives A, B, C and D. This question intended to test the
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ability of the candidates in writing skills in different things in a variety
of contexts. Each alternative carried 10 marks making a total of 20
marks for this question. The alternatives were:

A. Imagine that you have completed your final examinations and your
father has arranged for you a trip to Arusha to visit your aunt.
Write a letter to your friend requesting him/her to spend one week
with you at your aunt's place. Sign your name as Mazoea Mengo.

B. Imagine that you were invited to attend "The Day of an African
Child", which is celebrated on 6th June, every year at the United
Nations Children's Fund (UNICEF) premises. As an expert in
special Education for Children, write your speech about  “Child
Labour” in not less than 250 words.

C. Write a composition of not less than 250 words on the title, “The
first day I boarded a train to Mwanza”.

D. Write an invitation card to request your 10 best friends to attend
your birthday party at your home and outline the format of writing
telephone messages for those who will call for excuse. Use
fictitious names.

The analysis of the candidates’ performance in this question shows that
346,921 (96.3%) candidates attempted this question where by 109,064
(31.4%) candidates scored from 0 to 5.5 marks, 189,224 (54.6%)
candidates scored from 6 to 12.5 marks and 48,633 (14%) candidates
scored from 13 to 20 marks. The overall performance of the candidates
in this question was good, since 237,857 (68.6%) candidates scored
from 6 to 20 marks. This performance is illustrated in terms of
percentage in Figure 10.
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Figure 10: Percentage of the candidates' performance in question 10

2.3.3.1. Question Number 10 A: Writing a Friendly (informal) Letter

The candidates were required to write a letter to a friend requesting
him/her to spend one week with him/her at his/her aunt’s place. The
candidates were intended to demonstrate their knowledge on the format
of writing friendly letter.

The analysis of the candidates’ performance shows that candidates who
had average performance in this question had partial understanding of
the technicalities needed to be observed when writing a friendly letter.
One of these candidates provided correct information like the senders
address, date and the salutation, but wrote the official letter
complimentary close Your faithfully instead of writing a friendly letter
complementary close such as Your lovely friend, Yours or Your best
friend. The candidate also signed the letter as in official letters instead
of only writing the first name. The letter also lacked concluding
remarks. The concluding remarks are such as: | believe you will agree
my company or Its my hope that you won't let me down. Also the
candidates wrote the sentences with incorrect grammar, including
unsuitable pronoun in the sentence as | hope your fine and me too
instead of | hope you are fine and I'm fine too. However, majority of
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these candidates failed to write the content that is convincing a friend to
join in the trip. The contents they wrote were unclear as they did not
explain the purpose of the letter. Extracts 10.1 shows the sample of the
candidate's responses with an average performance.

Extract 10.1
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| Extract 10.1: Response by the candidate who could write correctly
few components in a friendly letter.

Moreover, the analysis of the candidates’ performance shows that there
were candidates who scored low marks in this question. These
candidates performed poorly in this question since they could not write
the friendly letter correctly according to the demand of the question.
Some of these candidates mixed formats of official and friendly letters.
For example, one of the candidates wrote a title, REF: IAM GOING TO
VISIT MY AUNT ARUSHA and used the official letter complimentary
close as Your faithfully instead of writing informal complementary
close such as Your lovely friend, Yours or Your true friend. In addition
to this, most of these candidates wrote the letter with poor English
Language grammar as they failed to express themselves in English
Language. Other candidates did not write the letters to their friends but
to their father. This suggests that they did not understand the
requirement of the question.

Not only that but also, there were candidates who failed the question
because of writing the letters in Kiswahili or code-mixing English
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Language and Kiswabhili in some sentences. For example, S.L.P. instead
of P.O. Box in the sender's address. This might have been influenced
by the fact that Kiswahili is highly used in our community than English.
Some letters completely lacked a letter format. Extracts 10.2 provides a
sample of poor response from one of the candidates.
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Extract 10.2: Response by the candidate who failed to write a
friendly letter as it was instructed.

Further analysis indicates that the candidates who had good
performance in this question managed to properly observe the
requirements of writing a friendly letter. They also placed the items of
the friendly letter in their right places within the letter. These candidates
observed all the requirements such as sender's address, to the top most
right, the date below the sender's address and proper salutation. Others
items are the introduction which includes the general greetings and
content which explain the purpose of the letter. Moreover, the letter
was supposed to have a conclusion such as I'm looking forward to
seeing you soon and the complimentary close like Your loving friend.
The letter is supposed to end by the first name, Mazoea. Extracts 10.3 is
a sample of a good responses from one of the candidate's scripts.
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Extract 10.3: The good sample of friendly letter by the candidate
who convinced his/her friend to join him/her in the trip to Arusha.
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2.3.3.2. Question Number 10 B: Speech Writing

The candidates were required to write a speech about “Child Labour”
in not less than 250 words. In writing the speech, the candidates were
also required to imagine that they were experts in special education
for children. This question intended to test the candidates’ ability to
write speech based on the given topic by observing correct language
use, clarity, good flow of ideas and use of relevant terminologies.

The analysis of the candidates’ performance shows that the candidates
who had good performance in this question were able to write the
speech accurately by providing the reliable reasons to stop child
labour. They were able to write a title of a speech, sound introduction
with salutation and had a well written main body explaining the
problems of child labour like using children as a source of cheap
labour, as a source of income, it denies children the right to be
children, it makes children become the victim of HIV/AIDS, it involves
children into illegal activities. These candidates also managed to
write a conclusion which had a link with the content discussed in the
main body. On top of that they could also use language correctly,
observe clarity, good flow of ideas and use of relevant vocabulary.
For example, one of the candidates suggested solutions in resolving
the problems of child labour in the world. Extracts 10.4 is a sample
of a good response from one of the candidates.
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Extract 10.4: Response by the candidate who wrote a good speech

about child labour.
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Further analysis shows that some of the candidates had average
performance in this question. These candidates had understood the
question and tried to write a speech about child labour but their
sentences had grammatical errors. For example, one of the candidates
wrote: Many peoples they give their child big work even to cook which
thing it is very dangerous. This candidate had an idea concerning the
child labour and he or she tried to explain it though the sentence was
ungrammatical. The candidate did not write the salutation which is an
important aspect in speech writing. Extract 10.5 shows one of the
responses from candidates with average performance.

Extract 10.5
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Extract 10.5
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Extract 10.5: The sample of the candidate who tried to write the
speech about child labour and got average performance.

However, there were candidates who failed to write a speech. These
candidates did not introduce the composition in a form of speech. The
content included irrelevant points about child labour. For example they
discussed that child labour provides employment, unity and helps
children to understand good behaviour. This suggests that these
candidates regarded child labour as a positive thing that the society has
to praise while the reality is that child labour was supposed to be
discussed as a problem in the society since it makes children to become
the source of income, cheap labour, children are being denied their
rights to be children, they become the victims of HIV/AIDs and it is an
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illegal activities. However, the candidates with this sort of answers, did
not play the role of an expert in special education for children, as was
expected to speak of the problems of child labour or means to eradicate

child labour and not praising it. Extract 10.6 is an example of poor
answers from one of the candidate’s script.
Extract 10.6
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Extract 10.6: Response by a candidate who explained the advantages of

child labour instead of explaining why it should be stopped.
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2.3.3.3. Question 10 C: Writing a Narrative Composition.

The candidates were required to write a composition of not less than
250 words on the title The first day | boarded a train to Mwanza. It was
a free composition where candidates could come with any relevant
presentations on the given topic.

There were candidates who performed well in this question as they
scored high marks. These candidates were able to narrate about their
first day to travel using a train and their trip to Mwanza by using
grammatical correct sentences. They were able to sequence well their
ideas and used relevant terminologies. Extract 10.7 is a sample of a
good narrative composition from the candidates’ scripts.
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Extract 10.7

e

THE FIRST pAY | %GARDED A TRAIN To MWANZA

the et doy | \Dmrt\ﬂl o tran o Mwanw it

quw mw* mis}ru N whs 3(\\1 cluu. ullh'en \ \nuc{

EGmP\t«)(-;d m\.\ ﬁulmqrq ]@uell meﬂmmjfmn TLnjr

wagy 1 208 Pr 'h'n.n; qi;qrs 'fo'. IhUwE DGSSEJ

ng W

[ temember mu el erdinary level 1 s tudied

o} UWATA 80YS HIGH &HOOL ya M‘bmq | had

Ctmn\ﬁhc\ YA \MJ* E\fmmno.}iitn ' 'Irw mnrmnq

S |1 Eﬂ-lh‘étl a” m“j \-a \uqqqm cmrj u:gn% Jm &

;Jltum Slrﬂ. it 10 Jun‘\e M\Dﬁlﬂu
| “\Eu welCemed f‘hQ and Yeld them whad |

&\‘Aﬂ‘]‘. (0[‘[\?_‘}"6 T\DEE C! e Jrlr\ul' '![\'\g ‘nd’*

'\TQ;P\ Wi \Eﬂt‘umﬁ Etj‘ 1'00p m un{,\ was (eac

'Mu:am\m q:‘c 10%&1\ -‘H\Q 'Iro‘:\ummq claul Sinte 4

Why My Ii{'s‘li l\ﬂ‘ﬁ, l[ULH'L\f—\q EAECH’-‘A’QC\ C\.I‘tcl PQ'IC\

e Jace: The Aare woe L-[i%f theuscind Tanzania

S\'\iu 10GS:

| ‘Ag SCLD QS ':l‘ f&ﬂt\\ﬁd "Copm '“m ‘\’mm

]Sj\mln 15 mufneu MO ey %&wﬂfc‘g% Mw:m'm H’

_\UD\L | NLE 11'1‘5.1&'& “\E !t'ft-\l.n un& \ Wi \H]l(f( |

lp(,g_ Emce -. was my ‘EHH ¥ime )m (’nIEf
% I\f\rt:m:\. Tt\fc dﬂuﬂ mtutti LC 1R5L 'H'\a.‘-
(cu - $ce mE \AJ\;\Q.‘( W Gs —Minq p\w:e
&-hou Q\ k-

__-DQrQQ hcufs \u‘l—ef 'Hn& lﬂmn \nr-m)l '(E_fqblq (i Eui'hﬁc

I.Duc\nmu S.mt& ETQ was G ¢ JHM\ 1}\ sj‘cppwl

) -::ma | wr:n um} 1n"'q:l o m&a‘l ‘“m* wml elp|

ALY JJr() &u&‘\rmn '.J.n"".\l Mmgma QH‘!{{ ‘1 ‘nud *ﬁﬂl]nli
m{&f‘tq WE WELE _(ven E‘ﬂ\q lﬁamtn'\q I“ﬁmuh-_j,_

b Cui _L;_gpu\( “N)’Mn \Le ?:ﬁ Jiv.r_-n.jtu. Vi {\uhf, WeE [ %

'{\_ﬂ_hﬁ, v \.\s_r Eupkmn o+ 1nutt} \'\HS qnmnm

45




Extract 10.7
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Extract 10.7: Response by the candidate who narrated a good
composition about the first day to board a train to Mwanza.

The candidates who had an average performance in this question
introduced their compositions well, but lacked some consistency within
the main body and lacked conclusions. Extract 10.8 shows one of the
candidate's responses with an average performance.
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Extract 10.8
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Extract 10.8: Response by the candidate with average performance.

Further analysis shows that some of the candidates performed poorly in
this question simply because they lacked knowledge of writing
narrative composition. Others did not understand the demand of the
question because they wrote narrative compositions which are quite
different from the topic given in the question. Some of the candidates
wrote the composition by code mixing and code switching as they used
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both English and Kiswahili language in their composition. Not only
they code mix and code switch the language, but also the sentences
were ungrammatical as well as meaningless. Extract 10. 9 show a
sample of the poor response.

Extract 10.9
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Extract 10.9: Sample of the poor response from the script of a candidate.

2.3.3.4. Question Number 10 D: Invitation Card and Telephone Message

The candidates were required to write an invitation card and an outline
of the format of writing a telephone message.

The candidates who had good performance had enough knowledge and
skills in writing invitation cards to invite people to attend events such as
birthday as in the case of this question. They adhered to the

requirement of writing an invitation card and correctly outlined the
48



format for writing a telephone message such as having a title, names of
the sender and receiver and clearly state the purpose of the party. It was
also supposed to include the place where the party was to be held, date
of the party and the time. Other requirements were RSVP, address of
the sender and telephone number or email address of the sender. The
telephone message format was to include, the name of a person who
sent the message; the name of the person who is intended to receive the
message; the message; the time when the message was received; the
name and signature of the person who received the message. Extract
10.10 shows a sample of a good response from one of the candidate’s
scripts.

Extract 10.10
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Extract 10.10: Sample of a good invitation card written by candidate.

The candidates who scored average marks in this question, had
moderate understanding and skills in writing invitation cards, and
outlining formats of writing telephone messages. Some of them

49



managed to write the names of the receiver, the purpose of the party,
place where the party will be held, date of the party, time and contact.
However, some of them failed to write the title, name of the sender. For
the case of telephone message format, they failed to write where the
message came from and to whom the message was sent. There were
also candidates who only wrote invitation cards without outlining the
format for writing telephone messages. Some candidates were also
penalized for not using correct English sentences and vocabularies.
Extracts 10.11 is a sample of a candidate’s script who managed to write
some components of invitation cards.

Extract 10.11
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Extract 10.11: Response by the candidate who provided some
information in card writing.
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Further analysis indicates that there were candidates who performed
poorly in this question. Some of these candidates wrote a card in the
format of a letter with the senders’ address. Not only that but also they
wrote an invitation cards in a formal or friendly letter. They also failed
to outline the format of the telephone message. Others wrote cards with
incorrect content. That is, they wrote about graduation invitation.
Moreover, some candidates wrote a dialogue as an invitation card. The
sequence of these incorrect answers implies that these candidates lacked
knowledge in writing cards. Extract 10.12 is a sample of a poor
response.

Extract 10.12
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Extract 10.9: Response by the candidate who wrote a dialogue
instead of an invitation card.
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2.4 SECTION D: Response to Reading

There were four questions in this section. The candidates were required to
choose one question from poetry and another one from novels and short
stories or plays. Each question carried 20 marks making a total of 40 marks
in this section.

2.4.1. Question Number 11: Reading and Analyzing the Poem
The candidates were required to read the given poem and answer the
following questions.

(@ What is the poem about?

(b) How many stanzas are in the poem?

(c) Is the persona happy in this poem? Give a reason for your
answer.

(d) Is the poem relevant to your society? Give a reason for your
answer.

() What is the lesson learnt from the poem?

(f)  What type of poem is this?

(g) Comment on the language used in the poem.

(h) What is the possible theme in the poem?

(i) How many verses are in the poem?

(J) What is the tone of the poet?

The question tested the candidates understanding of different literary
terms as used in poetry. They were also required to accurately interpret
the poem in order to supply correct answers for the given questions.
Each item carried 2 marks making a total of 20 marks.

The analysis of the candidates’ performance in this question indicates
that 273,242 (75.8%) candidates attempted this question, whereby
73,113 (26.8%) candidates scored from 0 to 5.5 marks, 137,569
(50.3%) candidates scored from 6 to 12.5 marks and 62,560 (22.9%)
candidates scored from 13 to 20 marks. The general performance of the
candidates in this question was good, since 200,129 (73.2%) candidates
scored from 6 to 20 marks. Figure 11 illustrates the percentage of the
candidates’ performance in this question.
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The analysis of the candidates’ performance shows that, the candidates
who performed well in this question were 62,560 (22.9%). These
candidates read and comprehended the poem correctly as they were able
to respond according to the demands of the question as seen in Extracts
11.1.

Extract 11.1

Figure 11: Percentage of the candidates' performance in question 11
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Extract 11.1: Response by the candidate who had good knowledge

about poetry and its related terms.
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However, the candidates with an average performance were 137,569
(50.3%). The candidates in this category managed to correctly answer
some questions and failed to respond to other questions or wrote partial
answers. Some candidates could not differentiate between a stanza and
a verse. For example, one of the candidate in part 11(b), wrote that the
poem had 25 stanzas instead of 4 stanzas, while in 11(i) the candidate
wrote that the poem had 04 verses instead of 25 verses. Some of the
candidates just gave answers without justifying them. For example, one
of the candidate in part (f) just wrote modern poem without giving
explanation as why it is a modern poem, so the candidate was required
to write that it is a modern poem due to variations in the number of
syllables, verses in each stanza, and the length of the verses. Extracts
11.2 is a sample of candidate's answers who was awarded average
marks.

Extract 11.2
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Extract 11.2: Response by the candidate who tried to answer some
parts of the question but he/she did not explain in detail.

On the other hand, the candidates who performed poorly in this
question failed to read and give correct interpretation of the poem in
order to answer the questions correctly. For instance, some of the
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candidates did not understand what they were required to answer. They
therefore provided unclear answers which did not meet the demand of
the questions. For example one of the candidate in part (a) responded
that the poem is about classes instead of writing that The poem is about
a woman who was against European dance (culture) ; in part (b) the
candidate responded that there are twenty five stanzas instead of 4
stanzas; in part (c) the candidate wrote meaningless things instead of
writing that the person was sad as she was furious and against foreign
dances; in (d) the candidate wrote mortal sin instead of writing that the
poem was relevant in Tanzania as there are Tanzanians who value
European culture than their culture; in (e) the candidate wrote wizard an
answer which is not related to the question instead of we should value
our culture; in (f) original instead of the type of the poem is a free
verse or modern poem due to variations in the number of syllables and
verses in each stanza, and the length of the verses. These responses
shows that the candidate did not understand the given poem hence
provided incorrect answers. Extracts 11.3 is a sample of candidate's
responses which were irrelevant.

Extract 11.3
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Extract 11.3: Sample of the poor responses from the candiaate who
lacked the knowledge of poetry analysis.
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2.4.2. Question Number 12: Poetry Analysis on the Effects of Selfish
Leaders

Candidates were required to discuss the effects of selfishness among the
leaders in developing countries. They were required to use two poems
for their reference and give four points from each poem. The candidates
responses were expected to vary depending on the poem selected by the
candidate. However, the central idea under discussion was supposed to
base on how leaders' selfishness is portrayed in the poems and its
effects to individuals or the society at large. This question carried 20
marks.

The analysis of the candidates’ performance shows that 60,734 which is
16.9 percent of all the candidates attempted this question, where by
23,571 (38.8%) candidates scored from 0 to 5 marks, 25,618 (42.2%)
candidates scored from 6 to 12.5 marks and 11,545 (19%) candidates
scored from 13 to 20 marks. The general performance of the candidates
in this question was good, since 37163 (61.2%) candidates scored from
6 to 20 marks. Figure 12 illustrates the percentage of the candidates'
performance in this question.

Scores
m0-5
o6-12
m125-20

Figure 12: Percentage of the candidates' performance in question 12

The analysis shows that 25,618 (42.2%) candidates who had an average
performance in this question tried to explain the effects of selfishness
among leaders in developing countries but they failed to give reference
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from the selected poems. For instance, exploitation, oppression,
humiliation, and lack of social services. These points had to be related
with the poems. Some of them tried to explain it with quotations from
poems but did not indicate the name of the poem used. Extract 12.1 is a
sample of the candidates’ response with average performance.

Extract 12.1
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Extract 12.1
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Extract 12.1: Sample of the candidates’ response with average
performance.

Moreover, the candidates with poor performance in this question were
23,571 (38.8%). Among these candidates there were those who used
novels as their reference instead of poems. For example, one of the
candidates used novels Weep Not Child and Passed Like a Shadow
instead of using poems. These candidates were not aware of the
difference between novels and poems. Some candidates used poems
which were not found in the recommended books Growing up with
Poetry, Songs of Lawino and Ocol and Summons. For example, one of
the candidates used a poem Eat More and Your pain which are found in
the Selected Poems book which is not among the reference books used
in ordinary level English Language. Despite the use of wrong reference,
these candidates did not discuss the issue of leaders’ selfishness and
their effects to the society. There were also candidates who presented
the effects of leaders’ selfishness without referring them to the poems.
These candidates failed to meet the demand of the question that states
with reference to two poems. Some candidates failed to communicate
their ideas due to language barrier as they failed to express themselves
in English Language. Other candidates discussed theme without
considering the demand of the question. Extract 12. 2 is the sample of
one of the candidate’s poor responses.
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Extract 12.2
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Extract 12.2
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Extract 12.2: A response by a candidate who used Novels instead of

Poems to discuss the effects of selfishness among the leaders in
developing countries.
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However, 11,545 (19.0%) candidates whose performance was good
were able to portray the effects of leaders’ selfishness in the society.
Some of the effects discussed were; source of poverty, classes and
irresponsibility of leaders. Others discussed the misuse of power,
corruption and how these accelerate exploitation. Extracts 12.3 is the
sample of good answer from one of the candidates’ scripts.
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Extract 12.3: The good response by the candidate who showed the
selfishness among the leaders in developing countries.

effects of

2.4.3. Question Number 13: Uses of Figures of Speech in Plays

Candidates were

for this question.

required to validate the statement “Figures of speech
are used not only to make the work of art beautiful, but also to convey
the message intended by the playwright to the readers” by using two
plays. The question tested the candidates’ knowledge of “form” as one
of the main elements of literature. A total of 20 marks were allocated
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The analysis of the candidates’ performance in the question shows that
55,204 (15.3%) candidates attempted this question. Whereby 52,120
(94.4%) candidates scored from 0 to 5 marks, 2,396 (4.4%) candidates
scored from 6 to 12 marks and 688 (1.2%) candidates scored from 13 to
20 marks. Generally, the performance of the candidates in this question
was weak, since only 3,084 (5.6%) candidates scored from 6 to 20
marks. Figure 13 illustrates the percentage of the candidates'
performance if this question.
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Figure 13: Percentage of the candidates' performance in question 13

The candidates who performed poorly in this question were 52,120
(94.4%). These candidates lacked the knowledge of the “form”
especially figures of speech and how they are used to convey the
message intended to the readers. These candidates did not distinguish
“figures of speech” with messages; hence they discussed the messages
instead of the figures of speech. Other candidates wrote irrelevant
answers about themes. For example, the candidates who used the play
“The Black Hermit” wrote influence of education, building the future
and influence of money while those who used “Three Suitors: One
Husband”, presented; misuse of power, position of woman and
polygamy. However, no figure of speech was mentioned in such kind of
responses. These candidates made their own question. Generally, a big

number of the candidates who failed this question misinterpreted the
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demand of the question. They regarded “messages” as the key issue;
hence they discussed the messages without showing how the figures of
speech helped to convey such messages as shown in extract 13.1.
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Extract 13.1: The poor response by the candidate who discussed
themes instead of figures of speech.

The analysis shows that 688 (1.2%) candidates performed well. This
indicates that they were able to understand the demand of the question
that figures of speech have a role to play in conveying messages. These
candidates were able to validate the statement about the uses of the
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figures of speech in making the work of art beautiful and convey the
message intended by the playwright to the readers. With reference to
plays, they were able to explain about personification, metaphor,
hyperbole, simile, imagery, symbolism and proverbs as figures of
speech which are used to make the work of art beautiful and convey the
message intended by the playwright to the readers. Extract 13.2 shows
the sample of the good response from one of the candidates who
attempted this question.

Extract 13.2

Py

|

T e dhod siqures o speech ure oot only wiecl fo muake the

J

tnthe lmudw Koy o the quthor douds fo mudig théer qok og wit o o

wodé ool Ea:mhml b (xjﬂ.m {’ncl'oﬂ]uu? 1he mpﬂn&é intended bu the aujrhuj

Wy that ﬁwu onn be Uhlc b mooke their wode Er'!lf[()‘l(lblé I weUIm Jhe

mci)n wetnne h‘ be prtrmed fo the :l:amd-echouehv ﬁo wing fwo Dlm}u

7 {
FTRTs THTE Tom CRR Binl 2 NGUET WA THIONED rnd THE Lod Anp

TOE JEWEL by Woele snv‘mka They houe (ntearled in ooe dupect or gnether

"bmmard {heir e ggey by bnsing cathe we of thew Jres o apeech.

I
Bu stordhing with dhe Dl(ljji ml cIHI\gTH\?f TONJAQQD‘L’U %\.) NOU_SH N Thmrjgt
dhe selbvinn are the spures o speech bemt}l wed rebeth }gm{aﬁo eonvey the

/
recroonble (EANTIQE I the soacky .

ﬁﬂm'ﬂ@ Thi proaq ey fguse o (oeech wualuwhich mepns

i fhe cmnPum.on op hae dl{wwnl‘ ihmas, Wl a wmlud‘um where thrpugh

Rl e o peech arese the mestage mrdnnehz sheuld weel fonether tioner
diminale clnues o awr secehes uhere oy the author nctrazfcof thy

41—\3\.1112 when sraumn .
« ﬂmsho{ him fikee o dead don” puge 39

Henue the gouchs u bcmu eduated ihat fhwuah Elunmakmu\{nrucmc g

1
dostey t mn pemete {“LXdELC&DmEﬂ‘ LLhCI"&rLL rloisep arehm l..) dommu&d in

pur Souchies of the pmcﬂiﬂ{me

th;omal Ouettur oyer 4o the Quetons aheh doun’-i peed

aniwers which forouah dhe Yo nrmé 4he measng ih

their obelpss doay Jrok_é]ﬂtlkﬂi‘shJ weare and un;hfxoucho ahererts 1hs

, [
adher rpueaty W pguve thowing Neaage ic-umu wanroe Up te her
[N J - i

) 2
bebopwnt when the “gup..

« You{ wnd 3o imidate the bird do you nand

U\;\(mnm ¥ page 3K .

Where the author rueals Pnui fhm‘mh vmdh bewng paling epeck te thew elden

|
tounes b cursoachey ant tend ﬁ)\bg {uw {nee then r‘he vouth w purtpresent

\Smw,h) are_nol mncthw to thew eldetj bene thmual nhammq metsage

5
"?cul:h ran Lhcmqe li} mede (‘1 fach(mcwami betm ment {odhe In‘ueiy

70



Extract 13.1
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Extract 13.2: The response by the candidate who showed clearly how
figures of speech are used to present messages to the audience.

2.4.4. Question Number 14: Conflicts in Novels

Candidates were required to analyze the source of conflicts in the two
novels that they have studied by giving four points from each reading.
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The questions tested the candidates’ analytical skills. The question
carried 20 marks.

The analysis of the candidates' performance in this question shows that
258,282 (71.7%) candidates attempted this question, where by 75,260
(29.1%) candidates cored from 0 to 5.5 marks, 117,961 (45.7%)
candidates scored from 6 to 12 marks and 65,061 (25.2%) candidates
scored from 13 to 20 marks. The overall performance of the candidates
in this question was good since 183,022 (70.9%) candidates scored from
6 to 20 marks. The illustration of performance in terms of the percentage
is seen in Figure 14.

Scores
m0-55

0o6-12
m13-20

Figure 14: Percentage of the candidates' performance in question 14

The analysis of performance shows that the candidates who had average
performance were 117,961 (45.7%). The analysis shows that those
candidates had at least knowledge of analyzing source of conflicts in
the novels. Some of these candidates discussed the conflicts without
analyzing their sources; hence they were not awarded full marks for
each item they presented as they worked on only one part of the
question. On the other hand, some candidates identified the sources of
conflicts, showed the parties involved in the conflicts but failed to
analyze them clearly. For instance, one of the candidates discussed the
source of conflicts such as drunkenness, peer pressure, superstition, but
he or she did not explain how these sources resulted to conflicts in the
play. The correct explanation could be: Drunkenness resulted to conflict
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between Adyeri and his family. There is a conflict between Adyeri and
his family because of his drinking behavior and constant beating of
children and wife. Adyeri is arrogant to the extent that he brings
discomfort to his family. Extracts 14.1 provides example of the
candidate's response with an average performance from this question.

Extract 14.1
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Extract 14. 1
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Extract 14.1: Response by the candidate who identifies the sources
of conflicts but failed to explain them clearly.
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Further analysis shows that candidates with poor performance were
75,260 (29.1%). Among these candidates there were those who stated
conflicts which did not exist in the novels they cited. This was because
they showed the conflicts using characters found in different novels.
For example, one of the candidates identified a conflict between
Gladwell and Amoti. This conflict does not exist because Amoti is
found in the novel “Passed like a Shadow” and the candidate was using
“The Interview” as the reference. Other candidates who used “Passed
like a shadow” identified conflicts between Sidi and Lankule who are
the characters found in the play “The Lion and the Jewel”. Other
candidates mentioned the sources of conflicts but failed to identify the
characters who were involved in such conflicts. This suggests that they
guessed the responses. However, in few points, they named the
characters but failed to give the details of the conflicts. Other did code
mixing of English and Kiswahili where Kiswahili was used when the
candidate failed to explain something in English. For example a
candidate wrote:

Protest, this is a source of conflict because some people to protest
inamsababisha mtu mpaka awe na mgogoro katika jambo so
sometime is good and time is not good in this nover to use makalay
to protest female genital mutilation.

Other candidates came up with their own questions. For example, one

of the candidates used “unanswered cries” and explained about the title,
identified ten characters and their qualities and actions they did, they
also identified and explained ten themes and messages found in the
book which is contrary to the demand of the question. Extract 14.2
shows a sample of a bad response from one of the candidates.
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Extract 14.2
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Extract 14.2: Response by the candidate who mixed a play and a
novel to analyze the source of conflicts in question 14.

Despite the poor performance of the candidates, 65,061 (25.2%)
candidates had good performance in this question. These candidates
understood the question as they were able to identify the conflicts such
as drunkenness, diseases, prostitution, colonialism and poverty and
analyze the sources of each conflict they presented by using characters
involved in the conflict. Their answers proved that they had read the
novels and mastered the content in those novels. Extract 14.3 is a
sample of good response as presented by one of the candidate's scripts.
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Extract 14.3
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Extract 14.3
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Extract 14.3
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Extract 14.3
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Extract 14.3: The good response by the candidate who showed the
sources of conflicts in novels correctly.

3.0 PERFORMANCE OF CANDIDATES PER TOPIC

English Language subject in CSEE 2018 had four topics. These were
Comprehension and Summary, Patterns and Vocabulary, Language Use and
Response to Reading.

The analysis shows that 238,836 candidates which is 66.3 percent of all the
candidates had good performance on Language Use. The candidates performed
well in this topic, since they were able to understand the demands of the
questions and had ability to rearrange the sentences in logical sequences,
match the given items, ability to write a friendly letter, speech, essay and an
invitation cards by using appropriate language.

Additionally, the candidates with average performance in Response to Reading
were 189,952 which is 52.73 percent, in Patterns and Vocabulary were
164,627 candidates which is 45.7 percent of all the candidates and in
Comprehension and Summary were 140,852 candidates which is 39.1 percent
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4.0

5.0

of all the candidates. This performance implies that the candidates had
moderate or partial knowledge concerning these topics.

CONCLUSION

The general analysis of the candidates' performance in 022 English Language
indicates that the performance was average. The candidates had good
performance in Language Use, since 66.3 percent scored an average of 30
percent and above, 52.73 percent scored an average of 30 and above in
Response to Reading, 45.7 percent in Pattern and Vocabulary scored from 30
percent and above and 39.1 percent in Comprehension and Summary scored 30
percent and above. This performance indicates that the candidates had
moderate or partial knowledge in the topics.

Although, the overall performance of the candidates in 022 English Language
was average, some of the questions were performed poorly due to lack of the
knowledge concerning Comprehension Skills, Patterns and Vocabulary,
Writing Skills as well as Response to Reading. For instance, in question 2
many candidates failed to summarize the text given and in question 3 they
failed to apply English Structure to answer the question. Similarly, in question
7 many candidates performed it poorly, since the candidates lacked knowledge
of tenses especially on past continuous tense and simple past tense. However,
the poorly performed question was question 13 in response to reading.
Candidates lacked knowledge of form in the literary work. Most of the
candidates failed to show how Figures of Speech can be used to convey
messages to the society.

The candidates' performance in each item and the topic tested is shown in the
Appendices A and B.
RECOMMENDATIONS

In order to improve candidate's performance in the future, several
recommendations should be adhered to:

(a) Teachers should put more emphasis on teaching Writing Skills. As it has
been observed that students lack this skill especially in composition and
response to reading.
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(b) Reading Skills should be emphasized in order to improve candidates'
performance in the future. Both teachers and students should put more
emphasis on Reading since it is one of the core skill needed in English
Language.

(c) More emphasis should be put in Response to Reading in order to help
candidates perform well in this section. Therefore, teachers, students and
other education stake holders are urged to put more emphasis on this area.

(d) It is equally important for both teachers and students to put more
emphasis on English Structure since it seems to be one of the bottlenecks
for good performance of English Language.

(e) Students should be given more exercises, assignments, quizzes, tests and
internal Exams so as to equip them with the knowledge of interpreting the
demands of question.
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Appendix A

SIN Topics Number of | Percentage of Remarks
Questions Candidates
who Scored an

Average of 30
Percentage and
Above

2 | Response to Reading 4 52.73 Average

3 | Pattern and Vocabulary 5 45.7 Average

4 | Comprehension and 2 39.1 Average
Summary
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Appendix B

Comparison of the Candidates' Performance per Topic between the CSEE 2017 and 2018

2017 2018
Number of | Percentage Percenta
Question of ge of
Candidates Candida
_ 2017 2018 | who scored t h
SIN | Topic an Average | Remarks | '8 WNO | Remarks
of 30 scored
Percent or an
Above Average
of 30
Percent
or Above

2 | Response to

Reading 3 4 52.73
38.36 Average Average
3 | Patterns and
Vocabulary 3 5 45.7
44.04 Average Average
4 | Comprehensi
on and 3 2 39.1
Summary 38.55 Average Average
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